EARAROBREBRT —5 XN—ZXBISH—F 2024588178 (£) 3E#E3H

U FS 3BISR USHR3IEE (BE) (58 T2 BRI
[AE%) 1 & :18,400,000 @ 2 3#&:7,400,000 3 3&:4,600,000 9 4 3% :2,800,000 5 & :1,840,000 M
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SR PN 4 4 ;Sééf_fgﬂﬂﬁ 1:(1_1).2 7-7 36.41106.0| 5 (ﬂg) gg%ilﬁ =)
RiALYISvoElL B:TyRAUETY BE #HE
=~,= s 4 | ALTS 1:11.4 1-1 37.4(104.1| 4 | 480 |#EERE (FR)
IZYT4R 5.0 ) (-4) (ﬁ)ﬁl:??)-j‘u—?—x“.l:z“
RN/ UwF— B:HISRU—) BEHS
= ~ tv 5 | ERAR 1:11.7 11-10 [ 36.1]101.4| 3 516 | SHESL ()
®@IF(IVX =) (1172 (o) | EERIE
R:Va—-hnrF—/ Z:IVIYI—-2 MEZ Y R
—_— C. JLX—=)L : - SR (FR)
FATAT=S L & (17.151,.77) 5-5 37.3[101.2| 1 ?326) S
R:N40 B:FUVERFFY k%
= s, Pl&EX 1. = . . THEE (R
ISy FIITFR 560 [ i i e fif) =R
R:O—IVJUY B:93535H #HBEIT7—L
— # 5 | FR—HE 1:11.8 3-2 37.50100.3 | 10 | 478 |KHHR— (5H)
61111174 B 56.0 (3/4) g | B BiEKs
KRRy I—9ILYI #:R—)bF— KR BiERS
< YN BRERX 1. - . . BUHERRE (R
70l 6| @XMV 3DAI5Y [B] X s FO | Helr04) B fﬁ HARITE
R:IUIA9—2 B:XAYaoIT—y EMERS
5 — 4 5 | —HEM 1:12.0 8-8 36.8| 98.5 | 8 474 | INEfREL (RH)
81712 VI—Ib 56.0 a 1/4) (g |FIEEE
RiRSVEVYR BFIRE—T HRatt /—ZELR
. it 2. - . . ERE ()
9|85l BAHTHILT—L H 5 e 1(112)2 5-5 37.8| 9.8 | 14 (5+028) ot
RFVITZANZAN BigAHT ANy FEREYS
W —Z3 s 5 | SH= 1:12.4 15-14 [ 35.5| 95.1 | 12 | 514 |HOBEFE3L (555)
105/ 8| YyF—<Iv7T [B] 5.0 a 1/8) ) | ) EUFVZI—
RiaAN/VyF— B:FYFIF RE 5
pp oy : allsieA :12. - . . BAEY (&)
¥l 1 AN T B4 R [ M R R ?fg SRR
RIS/ IVITVR BIIXVI—ILRNILY ERKS
Yy Ry R B4 | A5t 1:12.5 12-13 | 36.4| 94.0 | 11 | 484 |EEZ=i (FH)
1215/ 9 | Ty REVR [B] 58.0 o) oy | B AFPIR—LTF VTR
RFPIFPITRATVR B:FTFTHSv T FRERS
W J— i 6 | HERME 1:12.9 14-14  [36.2| 90.4 | 15 | 472 |EREBHESE (ER)
13| "y3I—Avao 56.0 2172 (-1a) | =TS @5
RRyI1—9)LYI &Ry I—HL—Y [=lEe]
s BREE 13, = . X BE—% (FR)
148 3| 7A7 7= 7 B uo 56.0 (12113/233 w2 S R (4+78‘; s
RINZARNYF—UT7 B:UFAITIV Y et F—RI77—L4
=T o5 | RENT 1:13.4 3-4 39.1| 87.3 | 6 | 484 |BEEIES (ER)
1517 113| 9T RL7 R 58.0 1/2) o |E=EH
2:0—RA7F707 &:N\VFUK T 7—L
[ BN
En'y 48.4-37.2
NOvg4L | 11.8-11.0-11.2-12.0-12.2-13.0
@ 11— —BBIEIL
13—7F—
20—F—
Ia=5r= 14,3(1,13) (5,15)-2-(6,12,7)-10-(4,9)-11,8
40—F— 14-(1,3)13(5,15)2(6,12) (10,7)-4-9-(11,8)
o ILRE
BB 2 790 JA R 2-14 950/ & 2-8 2,000H 3EE 2-10-14 8,230
B B 2 2604 2-10 870/ o 18 2-14 2,940 3Es 2-14-10 42,920H
14 2604 10-14 1,320 oS- 2-14 5,910
10 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.



